
X��X�¢�

�yxÊî�A

Üh

E��Æ

2017c 6� 13F

Üh (E��Æ) X��X�¢� 2017c 6� 13F 1 / 14



¢��µ

X����)

�äk�½Uþ�>f��f-E�§�¦S�>f�[�

	�$�øl�f�åP§	�>f�S��[§uÑX1§¡

�A�Ë�"

p�>f�C�fØ�§�fØ¦Ù =�)>^Ë�§¡

�Ü�Ë�"

Üh (E��Æ) X��X�¢� 2017c 6� 13F 2 / 14



¢��µ

X����)

Üh (E��Æ) X��X�¢� 2017c 6� 13F 3 / 14



¢��µ

xÊî�A

1923c§xÊîuyX1²¢ÔÑ��§Ø
k�Å

�λ0�X1	§�kÅ�λ > λ0�X1Å�Oþ�Ñ��k'µ

∆λ = (h/mc)(1 − cos θ)
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ÔéX1�ß�Ç÷v²�úªTCu = e−a( λ
100pm

)n .

T1 = R1−R
R0−R

,T2 = R2−R
R0−R
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Figure: 2
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T (λ) = e−a( λ
100pm

)n ,

À�·�«m[Ü

[Ü�R2 = 0.94051, a = 6.6 ± 0.6,n = 2.7 ± 0.1.
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θ = 145◦, ∆λ�IO��4.41pm"

λ1/pm λ2/pm ∆λ/pm �éØ�

59.5 64.0 4.5 2.0%

57.6 61.8 4.2 4.8%

θ = 150◦, ∆λ�IO��4.53pm"

λ1/pm λ2/pm ∆λ/pm �éØ�

58.3 62.2 3.9 13.9%

58.3 63.6 5.3 18.6%
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